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1. ‘LYwpnd yuwunybpgwo npuwymy hnuwlph wnpjniph jupnidp 15 9k Pwg
pwlwnt nhiypnid hpbwjwlwb ynpumdtnph L wdybpdtnph gnigdmGpGtpG GG
hwiwywunwufuwlwyun 10 9. L 200 vU:

w) Gunbip nhdwnpmipymGGhph dtonpmGGatpp:

p) Gubtp vwpptiph gnigdniGpGtipp pwlwihG thwytnig htnn:

Lnionrd: Lwlh np hwiwdw)l fjulnph ywjdwbh vwpptinp hpwjwwa G,
niltlp, np pwlwnt pug yhdwind jupdwl wiymip R, phtwnpnipjub ypw V, =104, huly

hnuw(ph mdp’ |, =200d0U, httmbwpwn wyn nhiwnpmipynilip hwjwuwp £ R =V, /1, =50 Ou:
Lwpnuip R, ghiwnpnipjwl ypw hwjwuwp £V, =U =V, =54, hulj hnuwlph ndp Gnphg hwjwuwnp
L wdwbtpitinph gnigdnilphG: Uyuwhuny R, =V, /1, =25 Ou: Gpp pwlwihG dhwglmy tlp, R,
nhdwnpmpjniip upd shwgynd b, htmbwpwp npu Ypw qupnuinp YihGh qpn b R nhdwnpmpjwG
Ypw jupnudp YihGh V,'=U =154, hul wdwybpdtunph guiguinilpp YihGh 1 =U /R, =3004U:

2. NqnuGlyynG gnquhbnwGhunh mtup mGtgnn winpp dheGnpinyg pwdwljwo  tpym
hwywuwn dwuh: Fpwlghg dwpunud fu h =30ud pwpépnipjudp
p, =800 o/8° funnipjudp htinniyy, wenud h, =20 ud pwpdpnipjudp
P, =16004q/8° funnipjudp htnnily: <knniyGhpp sfuwnGynn GG:

w) Guntip htinniyGph pwpépnipyniGGept we L dwfu Ywubpnd wyG
pwlhg htinn, tpp dheGnpip unnphl Ywunid owinud Ga:

p) Wanph hwwnwyhg h°Gs htnwynpnipjuG ypw wtimp b owlyty dheGnpup,

npytiugh htinnuyGtiph pwpdpnipymGGatipp sthnfuytG:
Lnionnf : w) {tnniyGph hhnppnuwmwwnhy 6Gynwdp winph hwwnwyh dnn YihGea

hwiwwywwwufuwlwpwn p, = p,gh, =800-0,3-9,8 = 2,35-10° Mw L

p, = p,gh, =1600-0,2-9,8 = 3,14-10° Muw: <hnlwupwp, we Ywumy d6ynuip hwnwyh dnn wykih
o E, pwl dwjunmd b wynntinhg htinniyp yhnuh ntiyh dwhu, dhGsh np wniGtinh dGynuiGhpp
hwjwuwnpytG' p,gh, + p,0x = p,g (h2 - X) , npntinhg unw(nw tlp, np htinnijh hnupp nunupbinig

htunn dwfu dwumd p, junmpjuwdp htinniyh pwupdpmpynilp YihGh x = M =2,5uu:

2
Ltumlwpwp htinniyh vywl pwpépmpyniGp dwhn dwund YihGh 32,5ud, wenud™ 17,5ud:
p) Opwtiugh htinnuy Gtiph pwpdpnipyuGGtpp we b dwju Ywubtinnud sthnfuytG wlgpnp wtiwp L
1hGh wjlGuhuh pwpépnipjwl ypw, npntn we L dwju dwubpnid hhgpnumwwnhly §GpnudGhpp
huuuwn G6: Wyuwhun mGGp p,g(h —h)=p,g(h, —h), nputinhg YunwGwbp, np wlgpp whwnp k

owlk] whnph hhiphg h= M =10 ud pwpdpnipjwl Ypw:
Pr— P

3. A-hg B Jwjpp shwdwdwlwy dtllnd GG glinny juwuwmb n '
dnuinnpuwlwywlyp b ginwthGju dwlwuywnphny wyunnibptliwG:
Uyunnibtptlwl L dninnpulwjuyp hwulting B uwjpnp wlidhowuwtiu o0
Ytpwnuwnlnwi GG A Jujn: UJundtiptlwl hwinhwynud £ jwunmhG A-hg ‘
nnipu qunig t; dwd htimn: °pp jhwlnhwh jwuwmpG SninnpnGuduyp, tpt wjwmndtiptGujh
wpwgnipjniln v k, dninnpuGuyuyh ubithwljwl wpwgmpyniln’ v, , giimh hnuwGphGp' u:

Lniomd: Lwlh np wymnitptlwl dhpn jwupdynd £ wthh Gumdwdp Gngl wpugnipjudp,
Gw dhG3L puuwnhG hwGnhwbtip ubgth v, t; GwGwuwwph, hul juunyd wyn Gny6 dwdwlwlned

JuwlgGh ut, Swlwywph: {wlnhydiwl wwjdwlhg junwlwbp v, t +ut, =2S, npntin S-pALB
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Juwjptph htinwynpmpjmGa £: Gyuyhuny S = vitd

t,: UnnnpwGwdwln B qujp jhwulh

, = S _ vt t, dwdwlwl: Loy lpwl dwiwlwly yuywhwleyh Gpwb Yopwnunlwnt b
v,+u  2(v,+u)
[wuwmhb hwlnhwybnt hwdiwnp: Uyuyhuny dnnnpuwGuwyuyp jhwlnhuh jwump dGlGwunyhg
v,+Uu
t=-

t, dwiwlwly whg: NMpwqpuy k, np tipt v, = v,, wyw dnnnpuiwjuwlyp L wjunndtptlwb
v,+U

hwlnhwynud G0 jwunmhpb GG Yhnnud:
4. m, =300q qubquony 0°C otindwumhdwlh uwnnygh Yunph YhGunpninmd quGynid k
m, =27 q qulquony wnmdhlb qlnhy: hGspw”G whwp k thGh m, = 600 q quiquony 9ph
uljqplGwlub 9tipdwumhdwln, npwytugh npw dte qgwod uwnniyygh Junpp, ngpu th dwup hwytneg
htinn, hp dh9 WGwgwo wnihGb qlnhyh htn ;pnhy pGyndyh 9onh vte: Uwnniygh hwidwl mbuw-
Jupuwn oipdmpniGp 4 =33042/Yyq L, oph mbtuwjuwpunp gpiniGwynipjnibp’ ¢ =4,242/(4q b):
Uwnniygh fumnipjnilip p, =900 Yo/’ £, wynushGhGp p, =2700 Yo/8’, oppGp’ p; =1000 Yo/s’:
Lnionid: Mwnq b, np 9ph GJuqugniyG oipdwumhdwih niypnid hwiwywpgh ytipeGuwyw b
oipdwumhdwlp whwp E thGh hwywuwp qpnjh, shwpwd vwnniygp hp dt9 quynn winidhGh htim
wtinp tnhy pGynuiytG opp vbe L npwlg ypw wgnnn wpphdtingyul nidp whwp & hwjwuwn hGh

nptiGg owlpnipjwl ndtiph gmiwphG &er g=(m,+m)g,npnbtn M-p shwjwo vwnnyg
P )

P P

1—,0/,02

qulquo t: Uyn hwjwuwpnuihg junwlwlp m=m, =153 q: <tmlwpwn uyqpluyud

o
otindwuwmhdwlp wtwp Lt 1hGh wjGuhuhl, npytiugh Am=m, —m =147 q uwnniygp hwtgyh: MGtlp
AmA

cm,

cm, (t—0)=AmA, npntinhg YunwGw(p t = =19,3":
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L. ‘LYwpnd quwunybpngwo npuwymy hnuwlph wnpjniph jupnidp 15 9k Pwg
pwlwnt nhiypnid hpbwjwlwb ynjumdtnph L wdybpdtinph gnigdmGpGtpG GG
hwiwywunwufuwlwyuwnp 10 9. L 200 vU:

w) Gunbip nhdwnpmipymGGhph donpymGGatpp:

p) Gunbtp vwpptiph gnigdniGpGtipp pwlwhG thwytnig htnn:

Lnionrd: Lwlh np hwiwdw)( fjulnph ywjdwbh vwpptinp hpwjwwa G,
niltlp, np pwlwmnm pug yhdwind jupdwl wiymip R, nhtwnpnipjub ypw V, =104, huly

hnuw(ph mdp’ |, =200dU, httmbwpwn wyn nhiwnpmpynilip hwjwuwp £ R, =V, /1, =50 Ou:
Lwpnuip R, ghiwnpnipjwl ypw hwjwuwp £V, =U =V, =54, hulj hnuwlph ndp Gnphg hwjwuwnp
L wdiwbtpitimph gnigdniGphG: Uyuwhuny R, =V, /1, =25 Ou: Gpp pwlwihG dhwglmy tlp, R,
nhdwnpnpjniip upd shwgynd b, httmbwpwp npu Ypw qupnuinp YihGh qpn b R nhdwnpmpjwG
Ypw jupnudp YihGh V,'=U =154, hul wdwybpdtumph guiguinilpp YihGh 1 =U /R, =300dU:

2. NqnuGlyniG gnquhbnwGhunh mtup mGtgnn winpp theGnpinyg pwdwljwo  tpym
hwywuwn dwuh: Apwlghg dwpuntd fu h, =30ud pwpépnipjudp
p, =800 Jo/8° funnipjusp htinniyy, wenud h, =20 ud pwpdpnipjudp
£, =1600 o/8’ funnipjwip htinniy: <EnnuyGhpp sfuwnGynn bG:

w) Guntip htinnyGph pwpépnipyniGGept we L dwfu Ywubpnd wyG
pwlhg htinn, Gpp dheGnpip unnphl dwunid owlynid Ga:

p) Wanph hwwnwyhg h°Gs htnwynpnipjuG ypw wtimp b owlyty dheGnpup,

npytiugh htinnuyGtiph pwpdpnipymGGatpp sthnfuytG:
Lnionnf : w) {tnniyGph hhnppnuwmwwnhy 6Gynwdp winph hwwnwyh dnn YihGea

hwiwywwwufuwlwpwn p, = p,gh, =800-0,3-9,8 = 2,35-10° Mw L

p, = p,gh, =1600-0,2-9,8 = 3,14-10° Muw: <hnlaupwp, we Ywumy d6ynuip hwnwyh dnn wykih
o E, pwl dwjunmd L wynntinhg htinniyp Yhnuh ntiyh dwhu, dhGsh np wniGtinh dGynuiGhpp
hwjwuwnpytG' p,gh, + p,0x = p,g (h2 - X) , npntinhg unw(nw tlp, np htinnijh hnupp nunupbinig

htunn dwju dwumd p, junmmpjuwdp htinniyh pwupdpmpjnilp YihGh x = M =2,5uul:

P2
Ltwmlwpwp htinniyh vywl pwpépmpynip dwh dwund YihGh 32,5ud, wenud™ 17,5ud:
p) Opwtiugh htinnuy Gtiph pwpdpnipjuGGtpp we b dwju Ywubtinnud sthnfuytG wlgpnp wtiwnp L
1hGh wjlGuhuh pwpépnipjwl ypw, npuntn we L dwu dwubpnid hhgpnumwwnhly §6GnudGhpp
huuuwp G6: Wyuwhuny mGhGp p,g(h —h)=p,g(h, —h), npntinhg YunwGwbp, np wlgpp whwnp k

owlt] whnph hhiphg h= M =10 ud pwpdpnipjwl Ypw:
Pr— P
3. Onnpy hwppnipw)G ypwyny v wpwgnipjudp pwpdynn L
tpyupnipjudp ninnuGyyniGh phptinG niqnuhwjug wigGmd t; |
(wjlnipjuwip 2tpnp ypw b julq wnlmd wiglhng S Swliwwwnph:Gmbp g7
2thiwb qnpowlhgp phptinh L 2tipnh dheol:
Lnionid: “Yhgnmp phplinG wlghy L ptpnh ypw X swthny: Uyn niypnid ngpu ypw wgnnn 2thdw G

m N
nidp YihGh ek npntin M -p phptinh quqquoG t, 4 -G phplinh L 2tpwnh dhol pthiwG

qnpowlhgp: Gpp phptinh tiqpp Yhwubh 2tpnh owyphG, 2thdwd nidp Ynunlw hwjwuwn #% lg L
UhGsb Yulq wnlbp wjyjlu sh thnfuygh: Upgynilpnid unwind tlp, np wpgbjwynn nidh Juiunudp



4

phptinh wligwd Gwlwuwwnphhg, ujuwd 2tpunh Ypw wlgltin

A
wwhhg, mpynd £ Giupnd yuwwnytpqwo gqpuphyny: Oquytiny Fx
wjn qpudbhyhg Junmwbwlp, np 2thiwl nidtiph hwnpwhwpdwG m,
hwiwp Jumnwpuwd wpuwnwlpp hwjwuwp k S

N = = -

m S+S-I m | !
A=ul —uMigls—2|: '
ﬂLg( 2 J ﬂLg( 2} A

Lwlh np wyn wuwnmwipp yuumwpyty Euyqplului !
2 2
YhGtnhy tGbpghwh hwyyht, unwna bip x| (s —'—] LN A
L 2 2 al (ZS - I)

4. h =20ud hwunmpjwudp, p =0,25 llq/rpi3 [unnipjuip 0°C otindwuwmhdwbh dywl ptpunhp
n"n dwup Jhwyh Uplh Swnwqujpiwl nuy 5 dudnud: CanmGhp, np Uplh Gwowquyplbpp djwb
hwppnipjwl htin Juqimy b6 a =30° whlyyniG: UpGnmpnhg nmpu Uplh SwnwquypGhphG
ninnuwhwjwg jnipupwlysmnip 1§ dwybptiup ypw jnipupwlyynip Juypyjub paymd £ E =1350 2
LGtpghw: Fpw 77, =50% Qulnud £ dplnmnpup: Uyhnwly djnilp winpunupdnd £ hp ypw pGluo

LGtnghwjh 7, =90% : Uwnnijgh hwjdwl mbuwlwpwp otpimpniip 4 =33042/yq t:

Lniomd': QuGhlp Gpynh dwybtplnyph ypw djwb 142 _L Z: dwltintiuph
Ynnihg dbY Jujplu)Gnud Yulynn EGhpghwi: Liwphg wwpq b, np > o , upkUplh
swnwqujpGtpp pGlYGnud GG Swybkpbuh ypu o =30° whljwb wnwly, www (pw

Ynpw vty Jujplywlnd paYind £ wjlpwb EGipghw, hGspwb ypayatp SwnwquypltnhG
ninnuhwjwg 0,5 0’ dwtiptivh ypw (sine tppnpn dwup): Ujuyghuny unwlnud tlp, np by
Juyplywns djwl YruGwd tatpghw hwjwuwp t E-(1-7,)-(1-7,)-sine -h: t =5 duninug
huwwo djywl pipmh hwumnipyniGp Juptijh £ unwGwy htnbgyw] hwjwuwpnidhg.
E-(1-7,)-(1-7,)-sina - St-3600 = 1S pAh, npntinhg Yunw Gulp

ap E-(1=m)-(1-m,)-sina-t-3600 _ 1350-0.5-0.1-0.5-5-3600 _; 4 1357 gy
Ap 3,3-10°-250

Ujuyhuny Ah/h=3,7-107:

5. Mwwuh dnun mbnunpjuwo £ 2R 2wnwynny L m qubgyuony qqul, nph ywwh L hwwmwyh
htinn 2thiwG gnpowyhgp g E: Gqubh Ghpund qunbynn R pwnwynny quubh ypw
thwpwpwo phijhg puynd GG ninnudhq F nidny: Nudh h°Gs wpdtiph nhwypnid quuGp
Julup wuwnyt: Cthiw( gnpowlgh h°Gs wpdbpGtph nhwypnid nidG wyn tnuGwluny
Yhpwntiny quutp hGupwynp sk wunwnbg:

Lnronid: blijupnd wwnypgwo GG quubh ypw wgnnn nidbpp: UndtGumGtph

huuuwpnpywl wwiwihg mGkbp FR=(F +F,)-2R: bpt quuulp

wuwnynid £, uwhph 2thdwG nidtph hwdwp Jupnn GGp qpty. F = uN,,
F, = 4N, : <nphgqnGuwlwl nipnnipjuwdp nidtiph qnudwpn qpn t, niunh
N, = F, = N, , hull ninqwéhq ninnnipjwl Ypw mdtiph hwdiwp mGhGp
N, + F =mg +F : RipJwo hwjwuwnpnidltphg

2u (1 + ,u)
1=2u—
unwgyuo yuwuwufuwlp Shpwn b, tipp ¢ < J2-1: Gpti u> J2-1 quuGl wyn tnulwyny hGupwynn
sk ki

JuunwGwip F = mg: F >0 wuwjydwlhg yunwlwip, np

v
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1. OnnpYy hwppnipw)G Yypuyny v wpugnipjudp pwpdynn L
tpyupnipjudp ninnuGlyyniGh phptinG nnnuwhwjwug wiglnd t |
(wjGnipjudp 2tipnh ypw b julq wnlnd wlglhmny S dwlwwwnh,
wjlwbunp I <S<L:

w)Gwntip 2thdwh qnpowyhgp phptinh L 2tipumh dhol:

p) Guntip wpghjuyiwl dwudiwGwyp S =1 nhypnud:

Lniond: “Fhgmp phplinG wighy L 2tpnp Yypw X
swihny: Uyn nhiypmd npuw Jpw wqnnn 2thdwl ndp YihGh F

m N
A7 %9, nputin M -p phptinh quiliqqwoG &, 4 -G phptnh L
2tpnh thol 2thiw@ gnpowyhgp: Gpp phptinh tiqpp YhwuGh !
2tipmh owjphG, 2thiwl nudp Ynunlw hwywuwp ,u%lg L 0

UhGsk Yulq wnGbin wjjlu sh thnfuyh: UpnyniGpnud
unwlnmu tlp, np wpqbjwynn nidh Juwjunuwip phpinh wigwo dwlwuwwnphhg, ujuwd 2tpnh Ypw

wigltynt wwhhg, mpnd £ GYupnud wwnltpguo gpuphyny: Oquagtiing wyn qpuiphljhg
JuunwGwp, np 2thdwl nidtph hwnpwhwpdwl hwiwp juunwpwo wfuwnmwlpp hwjwuwn k

m S+S-I m |
A=pu—l =u—Ig| S——=|:
ﬂLg( : jul_g( 2)

Lwlh np wyn wuwmwlpp yuunwnpyt £ uyqpluui yhGanhy LGipghwih hwpyhl, uvnwlinid

m I mv?> Lv?
wip gl s——|=MV o=V .
p”l_g( 2) 2 M Tgies

[
»

0] SN

X

p) ©Ohptnh ypw wqnnn nidp pjughwnwéquyuG b F, = —% X, ntunh dhGsk Yulq wnbtn
dwwlwlp Yhip t=—T =% |5 .
4 2\ ug

2. E jwupjwontpjwdp hnphgnGuywl Etyumpuywl ngupnnud v
qulynn m quiqyuony L Q thgpny qGnhyhG hwnnpnmd &G hnphgnGh Vo 4
o wGlyniG Juquinn v uqpGuljul wpuwgnipniG: Q-nmbip h°Gy /
wpwqgnipjuwdp L uyqplGuyub Yhnhg h°6s htinwynnnipjwG ypw qGnhyp .,/\OLQ

m)
UnpGyGh qtinGh ypw:

Lniomd: Q-Gnhyp yuunwpnid £ hwjwuwpwywth wpuwqugnn
2wnpdnud: {wupdwp k nidbipp wypnjtynt; hnphgnGuyuwb L ninnuéhq ninnmipjniGGtph Ypw:
YuunwGwp, np 8, =-g, &, =eE/m, npntin e -G bityupnth hgpl t, m-p" npuw qubqyuon: ©Onhsph

htin

vvyyvyy
wsl

\ [o

wmlnnnipjniln YihGh t =2v,sina/ g, qtimGhG payGtnt wwhhl wpwgnipjuG hnphgnGuyjwG

pwnunphsp hwjwuwp £ v, = v, cosa +£2V°ﬂ : Wjunbinhg vnwind tlp, np qimGh6 pGYyGhn
m g

mg

. . 2
wwhhG lGnhlh wpwgqmpynip YihGh v=/vi+v, = v, \/l +2 eE sin 2o + 4[eE s aj : Q-Gnhlp
mg

qtimGhG ypyGh Ghndwb Yhwnpg

V0+ A\

L=

eEsina | 2v,sina v,
t=v,| cosa+ : =

= —[sin 200+
mg

2eE sin? aj
g g

mg

htinwynpnipjwl Yypw:
3. h=20ud hwunnipjudp, p=0,25 llq/rpi3 [unnipjuip 0°C otindwuwmhdwbh dywl ptpunhp
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n"n dwup Jhwyh Uplh dwpwqujpiwl nwy 5 dudnd: CanmiGhp, np Uplh Swowquypltpp djwb
hwppnipjwiG htin uquinu GG @ =30° whlyyniG: UpGnmpunpg nnipu Uplh GwnwquypGhphG
nupquwhwjwg jopupwlsyng 16° Swlbkpbup Jpu jnipupwsng Juyplywl payamd £ E =1350 9
LGtpghw: Fpw 77, =50% Lulnud £ dplnmnpup: Uyhnwy djnilp winpunupdnd £ hp Jpw pGluo
LGtpghwjh 7, =90% : Uwnnyygh hwpdwl ntuwlwpwn gtpinmpjnilip 4 =33042/4q k:

Lntonud : GunGhGp Gpyph Swytplngph Ypw dul 16 ";&: dwltptup
Unnuhg Wbty yujnyuwjlniud Jubynn Ltpghw: ‘Glwphg wwpg b, np _: o, bptUnpluh
dwnwqupGtpp payGnud GG dwytptuh ypw o =30° wiljwi nwy, www (pw
Ypw vt Juypyywlnd pGlyand £ wjlpwl EGhpghw, hGspwb Yphyatp dwnwquypltnhG
ninnuhuwjwg 0,5 & Swlbtptiuh Ypw (sine bppnpn Swup): Wuwhuny unwnog bp, np gkl
Juyplywmd djwl YruGwd tatpghw hwjwuwp © E-(1-7,)-(1-7,)-sine -h: t =5 duninud
huwJwo djywl pipmh hwuwmnipyniGp Juptijh £ unwGwy htnbgyw) hwyjwuwpnidhg.
E-(1-7,)-(1-7,)-sina-St-3600 = AS pAh, npntinhg JunwGulp

AR = E-(1-7,)-(1-7,)-sina-t-3600 _ 1350-0,5-0,1;0,5-5-3600 _7.4.10° §=7 44
Ap 3,3-10°-250

Ujuyghuny Ah/h=3,7-107:

11-4.bnyG punwynny mwppbp qubiquottnh qlnhyGtn

Yuygnwd b6 Gnyyl bpupmpjwdp wilhn dnntph dwjptinhg dhyhd, huy
anntiph djnu owjptipp hnmpuwjuwwbtpny wipwgywo Gl ninnuéhq

wwwnhl (nbu GY.): &GnhyGtpp 2tnnud GG ninnuéhghg mwupptin lg
Unnuitp ¢ wlyniling L thwdwdwlwly pwg pnnlnd: FPugupdwly
wnwdquuwl pwjuniihg htimn qGnhYyGtphg vtyp Yulq L wnlnud:
wlynilny Yptinyh vynwu qlnhyp: Liwpuqgptp qlnhyGiph htmwqu
wndniin:

Lniontd: “Yhgnp dwhu qlinhyh quGqguon m, £, wohGp™ m,,
m, > m, : EGtpghwjh wwhwywldwb optlphg niltlp, np hwjwuw-
nuyynnmipjwl nhppmd qlnhYyGiph wpuwgnipniGGtph dnnny Gipp hwjwuwnp GG hppup
v? =2gL(1-coser), nptin L -p dnnbiph bpupnipymGa t: Lwlh np wnweh qlnh qubquop, L
htimlwpwp nyjwy fulinpnid b hdwniup pwfudwG wywhhG, wybh deo £, pwfunidhg htinn Julq
JwnGh htlg hGpp, pwGh np sh upnn wigll] tpypnpn qlnh dhony: Pugupdwl wnwaquju
pwudwl wprynilGpmd hdwnijuh ywhywldwb optiiphg niGhlGp m, v—m, v=m,u, ywhuywiiwb

h°Gy

mv: mv: mu’
+ =

optlphg’ —
ntlphg: — 5 5
(m-m)* v’ _mu’
(m+m,)v mu?

: Uju hwjwuwnpnuiGphg junmwGwlp

= m, =3m,, u=2v: Pwfumihg httnn tpypnnpn qlnhyp Ypwpdpwlw shGslk S

wlyynelp, npp npnpymud £ u? =2gL (1-cos ) wuwdwlhg: Stnunpbiny u=2v b hwpyh wnlkny, np
v? =2gL(1-cosa), junwbwlp (1-cos ) =4(1-cosr), npntinhg cos S =4cosa —3: Ujumntinhg
tiplnmud &, np tpt cosa =3/4, qlinhyp hwulind £ dhGsk hnphgnGuijwG nhppn, huy tph

1/2<cosa <3/4 qlnhyp pwpépwlnud £ hnphgnGwlwlhg pwupdp: Gpp cosa >1/2 tpypnnpn qlnhyp
pwjuniihg httinn fuyununyh ninquéhq hwppnipjnilnd: Gpt cosa <1/ 2, tipypnpn qlinhyn
Ypwpdpwlw dhGsk npnpgwo F whyynilp, julq Junth L jytpununtuw hajwuwpulpnnipjul
nhpp, npuntn Ypwhuyh wnweht qGnhlht, nphg htnn npuilp Y2wpdbl hwljunwy
ninnipjniGGtpny, YhwuGtl dshGslk o whlymG, hGyshg htin wdkG hGs YypyGagh: Gpt cosa >1/2,

wtinp L jpugnighy hGpnpiwghw qlnhyltiph L ngpulg ninnuéhq hwppnipjnilud QupdniGhph
dwuh(:
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11-5. S hphdpny qulp pupdwlwb dlungny pwdwGwd k ipynt dwuh,
npnlghg dtih owdwyp V, L, ynwuhlp’ V, : Gqubatpnd qunliynn onh sl M 4
otipdwumhdw(Gtnt t6 hwiwywunwupwlwpwnp T, L T, : i %
Qpiuhnfuwlwyiwb htmbwlpny onh otipdwumhdwbitpp wyn SwywGtpnid hwjwuwnpynid LG:
hGspw”G £ dfungh mbtinuhnfumpniGp:

Lniomd: Lwlh np uyqplwlwb yhdwlnid dGyniGtpp Gpynt dwund GniyG6 G0, niGhGp

pV, =v,RT,, pV, =v,RT,, npmtinhg unwlmu tlp N % : dhpoGuwyul yhdwlynid

V2 271
'

hwjwuwpymd GG U dGynuiGhpp, W oipdwumhdwGGbpp, niunp % o ,nptn V' LV,

2 2
hwiwywunwuhuwlGwpwn wnwehb L tpypnpn dwubipnid qubynn qugtiph ytipeGuwyub owjuyGtnG
bG: V/'+V, =V, +V,, unwlnu tlp

, 1% VT
W g
2 1 172 271

Vi _Vl’_ Vv, (Tl_TZ) .

ngh nt nfunipmniG Gh I = = :
Utungh mbnuihnfumpyniln YihGh 3 (VT,+VT)S




